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.=(zn)→ =(z0) ;<(zn)→ <(z0) mm` zn → z0

:dgked

xnelk zn → z0 ik gipp :` oeek
limn→∞ |zn − z0|2 = limn→∞ |<(zn) − <(z0) + i(=(zn) − =(z0))|2 =

limn→∞(<(zn)−<(z0))2 + limn→∞(=(zn)−=(z0))2 = 0

.limn→∞<(zn) = <(z0), limn→∞=(zn) = =(z0) okle
xnelk ,=(zn)→ =(z0) ;<(zn)→ <(z0) ik gipp :a oeek

,limn→∞ |zn−z0| ≤ limn→∞ |<(zn)−<(z0)|+limn→∞ |=(zn)−=(z0)| = 0
.limn→∞ |zn − z0| = 0 okle

.miiw `l zn = in xy`k limn→∞ zn ik e`xd .2

.arg(zn) =
nπ
2
mod(2π), |zn| = 1 okle zn = cisnπ
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limn→∞ zn ,ok lr .miiw `l limn→∞ arg(zn) eli`e limn→∞ |zn| = 1 ,zrk
.miiw `l

.qpkzn
∑∞
n=1(1 + i)n/2n xehd m`d ewca .3
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n=1 |(1 + i)n/2n| = ∑∞

n=1

√
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n
/2n =

∑∞
n=1(1/

√
2)n <∞

.
∑∞
n=1(1 + i)n/2n <∞

.1/(1− z) enekqe qpkzn ∑∞
n=0 z

n ixhne`bd xehd |z| < 1 lkl ik egiked .4

miiwlgd minekqd zxcq z` meyxp

zrk .sn =
∑n
k=0 z

k = (zn+1 − 1)/(z − 1)

.limn→∞ sn = (limn→∞ zn+1 − 1)/(z − 1)

lkl |zn+1| = |z|n+1 → 0 ,zn`a .limn→∞ zn+1 = 0 ik ze`xdl x`yp
.epniiqe |z| < 1
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